C420
Parts
Locator

Fogh Marine
901 Oxford St, Toronto, ON, M8Z 5T1
416 251-0384 info@foghmarine.com

FOGH

(‘1 LaserPerformance" 3

Fogh Marine | 901 Oxford St, Toronto, ON, M8Z 5T1 | info@foghmarine.com | www.foghmarine.com

OOOOOOOOOOOOOOOOOOOOOO


mailto:info@foghmarine.com
https://www.foghmarine.com

Cg20 Sails

95874
95871 batten tip

94702
95860 Batten Set

95873

94703

94701 Main

Sail Numbers

95845 12inches, blue
95846  12inches, red
95853  12inches, black

95872

90685 Slug
95807 Sail bag

94700 Jib

4
Fogh Marine | 901 Oxford St, Toronto, ON, M8Z 5T1 | info@foghmarine.com | www.foghmarine.com

(‘ LaserPerformance 2010 LaserPerformance




91198 qrepnanding C420 HuUll
91404 %91166 Fast Pin
91047 Molded Bow bumper - JRV 91077

91000 Molded Bow bumper - College Style

91001 JRV Rubrall, 30ft pre-cut
91002 Heavy Duty Rubrail, 32 ft pre-cut

Not Shown
95800 91338 Turning block for trapeze shox
91013 Backup rod for shroud U bolt
91011 Backup rod for guy hook

90539 Mast step
90458 Nut and bolt
50459 Bolt only

9mog
ass —Hp) ¥ : 0

91073
91184

91108
91328 Cleat

91240

91028 Bailer Complete
91027 Bailer Handle

91253 —O ) o 8
091060 91055 Bridle
90659 Pin for Bridle
91133

91323 | —

- 91085 91024 - Tennis ball bailer (SCV) 5
Fogh Marine | 901 O i i w.foghmarine.com

(‘1 LaserPerformance 2010 LaserPerformance




C420 Booms
17650 Club 420 Complete Boom

91099 Eyestrap (not shown)

91339 / 90403 ~ 90404 937 91339
91203
2046/ - . 91337
1341 - 90604167 Vang (JRV)
91337
91337

91336
91197

17651 Collegiate 420 Complete Boom

91099 Eyestrap (not shown)

91339 90403 90404 91327 913‘39
90467 . . 91200
91336
91341
90605311 Vang
91330
91203 6

Fogh Marine | 901 Oxford St, Toronto, ON, M8Z 5T1 | info@foghmarine.com | www.foghmarine.com

“l LGS er P er fo r m an c e ©2010 LaserPerformance




17600 Rigged Club 420 Mast
Includes running rigging, standing
rigging, spinnaker and trapeze gear

90687 Unrigged Club 420 Mast
Includes trapeze and spinnaker
hardware, no running or standing

rgging

90567

91205
90217

90003 — =
90018 Spreader pair, 16" (not pictured)
)

90016 Spreader tip with pin (not pictured

.

90583
910761/4" Clevis pin & ring
90554 1/4" fast pin (optional)

90230 Trapeze Wire Kit

950231

90601
[ 90442

90240

L 90603
90604 16:1 Vang

91339 Jib halyard turning block (not pictured)

AR

Cg420 JRV Spars

90549 Masthead with sheave
90578 Masthead sheave
91074 Clevis pin

90510 Hounds assembly w/bolt & shroud tangs

l\mmmmmx:ﬂ
90587 = {o =—91077
O
90586 =\_q0400
91196
90205 0410
90502
91336 Single micro block on halyard
950570
91100
91337
—90509
91537
T 904%
90568 .
17675 Complete spinnaker pole
90490 Gooseneck, (boom side only, complete)
/ 91077 Clevis pin, 3/16"w/split ring
90659 90498
T 90555 Gooseneck locking fastpin
with lanyard
90652 Lanyard only
95105 50491 90553 Pinonly
91070 Bolt, 3/8-16x2, ss
Washer, 3/8x1x1/2
91327 Cunningham cleat
91100 Cunningham eye strap(not pictured)
—90406 vang ball
91213 Long Spacer
— 91338
L 91211 Short Spacer
90559

Fogh Marine | 901 Oxford St, Toronto, ON, M8Z 5T1 | info@foghmarine.com | www.foghmarine.com

(‘ LaserPerformance

©2010 LaserPerformance

7



17601 Rigged Collegiate 420 Mast
Includes running and standing rigging

89038 Unrigged SCV420 Mast
No running or standing rigging.

90567

50217

90003
90018 Spreader pair, 16" (not pictured)
90016 Spreader tip with pin (not pictured)

90583
91076 1/4" Clevis pin & ring
90554 1/4" fast pin (optional)

91336
90605 3.1 vVang
&

9330/

91339 Jib halyard turning block (not pictured)

Cg420 SCV Spars
90549 Masthead with sheave
90578 Masthead sheave
91074 Clevis pin

90510 Hounds assembly w/bolt & shroud tangs

S|
90587 4 {o A—91077
O
90586 =\_g0m0
9%

90205 0410

50502
91336 Single micro block on halyard

950570

90490 Gooseneck, (boom side only, complete)

91077 Clevis pin, 3/16" w/split ring

90659 90498

90555 Gooseneck locking fastpin
with lanyard
90652 Lanyard only

X

Fogh Marine | 901 Oxford St, Tor

(‘ LaserPerformance

91052 9049] 90553 Pinonly

Bolt, 3/8-16x%2, ss
Washer, 3/8 x1x1/2

91327 Cunningham cleat
91100 Cunningham fairlead (not pictured)

—91070

—90406 vang ball

8

©2010 LaserPerformance

> MB8Z59T1 | info@foghmarine.com | www.foghmarine.com



Cg20 Blades

85206 Rigged JRV tiller with extension éégr‘?? ote
85298 Rigged SCV tiller with extension 85193 P
Rudder
«— 85165
=—— 35165
85200 [ J
L S —aws
| JUV0)
. | “»—— 85165
A 5500
91066 85133
85238
85076 85145 Shim Kit
85090
85265
o -
— 85155 Blade only
Rudder Bushing:
Teflon Tube
. . 3/8'INX1/2'ODx7/8"
85207 Unrigged without cleat
®
85016 Centerboard pivot bolt assembly
85296 Rubber washer —— 85000 Centerboard
85297 Pivot plate Centerboard Bushing:

Teflon Tube
3/8"INX1/2" ODx7/8"

Centerboard Gaskets

85041 Gasket end

85045 Gasket, 47.5in x1.25in

85038 Gasket fasteners

85031 CGasket retainer

85046 Gasket for recessed gaskets (SCV)

9

©2010 LaserPerformance

Fogh Marine | 901 Oxford St, Toronto, ON, M8Z 5T1 | info@foghmarine.com | www.foghmarine.com

(‘ LaserPerformance




C420 Retrofit Kit

To convert your Schoolastic/Collegiate 420 to a Junior Race Version 420 you will need the following items:

@ a0

@ 91255 x2

= IBUx

d4q 907 x2

91285x1

oo
E 90568 X1

@ 0 gos0x2

P
aFo 91338 x2

N37%2
91100 %2
=D

= 003

” SIEY
&@ M9

90231 x 2 Trapeze wires with adjusters

Topping lift w/hook x 1
90509 x1 Hook, topping lift

Foreguy X 1

9 feet of 5mm shockcord
Spinnaker sheets x 2

36 feet of 5mm dyneema
Spinnaker halard x 1

38 feet of 4mm sprinline

91240 x 1

176751 Spinnaker pole

—

95800 SPinnaker Bag

10

Fogh Marine | 901 Oxford St, Toronto, ON, M8Z 5T1 | info@foghmarine.com | www.foghmarine.com

(‘1 LaserPerformance

©2010 LaserPerformance



LaserPerformance NORTH AMERICA
P.O Box 1409

Norwalk, CT 06856

USA
CustomerCare@LaserPerformance.com

LaserPerformance EUROPE

Station Works, Long Buckby
Northamptonshire NN6 7PF

United Kingdom
CustomerCare@LaserPerformance.com

LaserPerformance INTERNATIONAL
Unit A1, 22nd Floor, MG Tower

133 Hoi Bun Road

Kwun Tong, Hong Kong
CustomerCare@LaserPerformance.com

LASERPERFORMANCE.COM

(‘1 LaserPerformance

All rights reserved. ©2010 LaserPerformance. LaserPerformance and associated logos are
trademarks. Laser, SB3, Sunfish, and Dart are trademarks used under license.
LaserPerformance reserves the right to make design and/or specification changes to any of
their products as part of their continuous development program.

Fogh Marine | 901 Oxford St, Toronto, ON, M8Z 5T1 | info@foghmarine.com | www.foghmarine.com





